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WA 55,118] 11kg 1,890 — 1,674 1| 1,458 1] &Il FE b
wEICALA 21,090 10kg 1,620 = 1,134 1 648 || dtimE b
ZIES 370] 10kg 3,240 T| 3,240 1| 3,240 7| dimE 4o
H% 35,300] 15kg 2,376 T 1,890 1| 1,404 1| K% 1
FrY 42,810 10kg 1,944 11 1,566 17| 1,188 1| #5E ft
EFS5NAZED 5 784 200g 140 | 130 | 119 -] #MFIL KB b
HRE 6, 392 5kg 2,592 1| 1,836 || 1,080 || dimE 4th
AN 9,519 5kg 1,728 = 1,188 — 648 -] WE E5 ith
b=k 7,110 dkg 3,240 || 2,160 || 1,080 =] ‘I IHE f4h
EpoY 9, 362 5kg 3,024 1| 2,700 1| 2,376 1| && fh
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MAL & 16, 061 5kg 2,700 || 1,551 | 540 || Z*H fth
Fhul & 26,6201 10kg 1,728 || 1,188 | 648 || dtimE fth
LY 1,153] 10kg 5,400 T 4,644 || 3,888 || E®E b
f-FEh&E 28,0401 10kg 2,052 1,424 1,080 dtimE o
La R 11,980] 10kg 2,160 || 1,620 = 1,080 7| Zy &&H i
Joyal)— 5,388 6kg 3,132 2,874 1,879 BE b
ES=Yrbs 134] 500g 5,616 || 3,475 || 1,296 || #E
LWV 3,179] 100g 151 108 65 s
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2h5 180 20kg 3,240 3,240 3,240 55 fth
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S
ESg 105] 600g 378 — 378 — 3718 —| BHEH
=R 3,246] 10kg 5,616 7| 4,266 1| 2,916 1| =@ f#
Ff-ra 12,278] 20kg 2,700 2,700 2,700 =R ML o
EA—=x 548 5kg 7,020 || 6,480 || 5,940 —| WL b
BEAQY 2,626 8kg 7,776 —| 5,184 1| 2,592 1| BiR #RE b
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